ER-A310U

Exteriors[ER-A330]

(

[/

RCPS0128




ER-A310U

Exteriors[ER-A330]

PRICE | NEW | PART
NO. PARTS CODE RANK | MARK | RARK DESCRIPTION

1| GCOVA7128BHZZ AY N D Printer cover H

2| PCUT-6654BHZZ AE N C Paper cutter

3| LX-BZ6788BHZZ AD N C Screw

4| GCOVH7124BHZZ AF N D Battery cover

5| PFILW6962BHZZ AU N D Display filter

6 | GCAB-7237BHZZ AM N D Pop up cabinet

7| CPWBF7504BH01 BC N E Pop up PWB unit

8| QCNW-7815BHZZ AR N C P-flat cable (15p)

9| PFILW6961BHZZ AP N D Pop up filter

10 | XHPSD30P06K00 AR C Screw (3 X 6K)

11| XBBSC30P08000 AR C Screw (3 X 8) (for top cover-trans cover)
12| HDECP6847BHSA AM N D Deco panel

43 | _TCAUZ6684BHZZ AD D Caution lanel [U.S.A]

TCAUZ6685BHZA AR D Caution label [Canada]

14 | GCABB7236BHZA BC N D Top cabinet

15| GFTAF6921BHZZ AG N D Clerk cover A

16 | XEBSD30P08000 AR C Screw (M3 X 8)

17 | QCNW-7805BHZZ AF N C Earth wire (mode s/w)

18 | CPWBF7505BHO1 BU N E Main PWB unit (include No.17)
19| GCABA7239BHZZ BB N D Bottom cabinet
20 | XNESD30-24000 AA C Nut (M3)
21| XHBSD30P08000 AR C Screw (3 X 8)
22 | XBPBZ40P08K00 AA ¢} Screw (4 X 8K)
23| QACCD8411QCZZ AN B AC cord (6A bush 2.5M)
24 | XJPSD30P16X00 AB C Screw (3 X 16X) (for transformer)
25| RTRNP9516BHZZ BD N B Power transformer (120V)
27 | RCORF6698BHZZ AR C Core
28 | LHLDZ1017ACZZ AC C Clamp
29 | PCUSG1220BHZZ AE C Printer cushion
30| XBPSD30P10KSO AB C Screw (M3 X 10KS) (for printer)
31| KI-OB6783RCZZ BZ N E Printer unit (CR-812A)
32 | LBNDJ2003SCZZ AA C Cable band (80mm)
33| QCNW-7809BHZZ AH C Earth wire
34 | PSTM-6658RCO1 AR C Stamp(YOUR RECEIPT THANK YOU)
35| LX-BZ6755BHZZ AB C Screw (for transformer)
36 | LX-BZ6781BHZZ AB C Screw
37 | QTANZ1363CCZZ AA C Battery terminal (+/-)B
38 | QTANZ6657BHZZ AD N C Battery terminal d
39 | QTANZ1362CCZZ AA C Battery terminal (+/-)A
40 | QTANZ6641BHZZ AC C Battery terminal ¢
41| QOCNW-7807BHZZ AN N C PR flat cable (31p)
42 | QCNW-7817BHZZ AF N C B/T cable (2p)
43 | QCNW-7451BHZZ AG C Trans cable (2pin)
44 | XUBSD30P10000 AC C Screw (3 X 10)
45| 00B1009882/// AC C C.C.S.Screw (M3 X 5.5)




ER-A310U

Keyboard unit

RCPS0129

Packing material&Accessories

RCPS0130



ER-A310U

Drawer box unit(SK423type)

ER-A330

501

05 \?’ U.S.A.
_—3 AN
S AN

5
~

RCPS0131



